AUSLEY & McMullen

ATTORNEYS AND COUNSELORS AT LAW

227 SOUTH CALHOUN STREET P.O. BOX 391 (ZIP 32302) TALLAHASSEE, FLORIDA 32301 (850) 224-9115 FAX (850) 222-7560

August 13, 1999

HAND DELIVERED

Ms. Blanca S. Bayo, Director Division of Records and Reporting Florida Public Service Commission 2540 Shumard Oak Boulevard Tallahassee, FL 32399-0850

Re:

Fuel and Purchased Power Cost Recovery Clause and Generating Performance Incentive Factor FPSC Docket No. 990001-EI

REQUEST FOR SPECIFIED CONFIDENTIAL TREATMENT

Dear Ms. Bayo:

We submit herewith Tampa Electric Company's 423 Forms for the month of June 1999 and request specified confidential treatment of Forms 423-1(a), 423-2, 423-2(a) and 423-2(b). Our request is made pursuant to Section 366.093, Fla. Stat., for the reasons detailed in the document entitled "Tampa Electric Company's Request for Specified Confidential Treatment", which document was filed under separate cover (copy enclosed). The sensitive information contained in these forms has been highlighted in yellow.

Please acknowledge receipt and filing of the above by stamping the duplicate copy of this letter and returning same to this writer.

Thank you for your assistance in connection with this matter.

RECEIVED & FILED

Sincerely,

JDB/pp Enclosures

All Parties of Record (w/o enc.) cc:

DOCUMENT NUMBER-DATE

FPSC-RECORDS/REPORTING

MONTHLY REPORT OF COST AND QUALITY OF FUEL OIL FOR ELECTRIC PLANTS ORIGIN, VOLUME, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) - 228 - 1609

4. Signature of Official Submitting Report:

Phil L. Barringer, Vice President Controller

Line No. (a)	Plant Name (b)	Supplier Name (c)	Shipping Point (d)	Purchase Type (e)	Delivery Location (f)	Delivery Date (g)	Type Oil (h)	Sulfur Content % (i)	BTU Content (BTU/Gal) (j)	Volume (Bbls) (k)	Delivered Price (\$/Bbl) (I)
1.	Gannon	Central	Tampa	MTC	Gannon	06/07/99	F02	*	*	119.05	\$18.6116
2.	Gannon	Central	Tampa	MTC	Gannon	06/08/99	F02	*	*	354.48	\$18.6118
3.	Gannon	Central	Tampa	MTC	Gannon	06/10/99	F02	*	*	176.64	\$18.6123
4.	Gannon	Central	Tampa	MTC	Gannon	06/11/99	F02	*	*	188.69	\$18.5792
5.	Gannon	Central	Tampa	MTC	Gannon	06/15/99	F02	*	*	352.93	\$19.7762
6.	Gannon	Central	Tampa	MTC	Gannon	06/16/99	F02	*	*	353.17	\$19.7761
7.	Gannon	Central	Tampa	MTC	Gannon	06/17/99	F02	*	*	353.31	\$19.7762
8.	Gannon	Central	Tampa	MTC	Gannon	06/18/99	F02	*	*	353.29	\$19.7760
9.	Gannon	Central	Tampa	MTC	Gannon	06/21/99	F02	*	*	824.07	\$20.7326
10.	Gannon	Central	Tampa	MTC	Gannon	06/22/99	F02	*	*	528.83	\$20.7327
11.	Gannon	Central	Tampa	MTC	Gannon	06/23/99	F02	*	*	493.62	\$20.7325
12.	Gannon	Central	Tampa	MTC	Gannon	06/24/99	F02	*	*	530.62	\$20.7326
13.	Gannon	Central	Tampa	MTC	Gannon	06/30/99	F02	*	*	141.36	\$20.7946
14.	Big Bend	Central	Tampa	MTC	Big Bend	06/01/99	F02	*	*	1,412.90	\$18.8408
15.	Big Bend	Central	Tampa	MTC	Big Bend	06/02/99	F02	*	*	2,120.48	\$18.8407
16.	Big Bend	Central	Tampa	MTC	Big Bend	06/03/99	F02	*	*	530.64	\$18.8408
17.	Big Bend	Central	Tampa	MTC	Big Bend	06/07/99	F02	*	*	524.88	\$18.6120
18.	Big Bend	Central	Tampa	MTC	Big Bend	06/08/99	F02	*	*	353.90	\$18.6123
19.	Big Bend	Central	Tampa	MTC	Big Bend	06/09/99	F02	*	•	1,767.48	\$18.6120
20.	Big Bend	Central	Tampa	MTC	Big Bend	06/14/99	F02	*	*	1,231.17	\$19.7762
21.	Big Bend	Central	Tampa	MTC	Big Bend	06/16/99	F02	*	*	706.55	\$19.7762
22.	Big Bend	Central	Tampa	MTC	Big Bend	06/17/99	F02	*	*	1,589.98	\$19.7762
23.	Big Bend	Central	Tampa	MTC	Big Bend	06/18/99	F02	*	*	706.51	\$19.7676
24.	Big Bend	Central	Tampa	MTC	Big Bend	06/22/99	F02	*	*	529.29	\$20.7324
25 .	Big Bend	Central	Tampa	MTC	Big Bend	06/23/99	F02	*	*	176.29	\$20.7321

^{*} No analysis Taken

MONTHLY REPORT OF COST AND QUALITY OF FUEL OIL FOR ELECTRIC PLANTS ORIGIN, VOLUME, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) - 228 - 1609

4. Signature of Official Submitting Report:

Phil L. Barringer, Vice President Controller

Line No. (a)	Plant Name (b)	Supplier Name (c)	Shipping Point (d)	Purchase Type (e)	Delivery Location (f)	Delivery Date (g)	Type Oil (h)	Sulfur Content % (i)	BTU Content (BTU/Gal) (j)	Volume (Bbls) (k)	Delivered Price (\$/Bbl) (I)
26.	Big Bend	Central	Tampa	MTC	Big Bend	06/24/99	F02	*	*	530.19	\$20.7326
27.	Big Bend	Central	Tampa	MTC	Big Bend	06/27/99	F02	•	*	336.71	\$20.7952
28.	Big Bend	Central	Tampa	MTC	Big Bend	06/29/99	F02	*	*	707.05	\$20.7949
29.	Big Bend	Central	Tampa	MTC	Big Bend	06/30/99	F02	*	*	530.50	\$20.7940
30.	Polk	Coastal	Tampa	MTC	Polk	06/01/99	F02	*	*	1,089.48	\$19.7574
31.	Polk	Coastal	Tampa	MTC	Polk	06/02/99	F02	•	*	2,308.77	\$20.2824
32.	Polk	Coastal	Tampa	MTC	Polk	06/03/99	F02	*	*	1,432.82	\$20.0724
33.	Polk	Coastal	Tampa	MTC	Polk	06/04/99	F02	*	*	1,449.27	\$20.7023
34.	Polk	Coastal	Tampa	MTC	Polk	06/05/99	F02	*	*	2,521.63	\$20.7024
35.	Polk	Coastal	Tampa	MTC	Polk	06/06/99	F02	*	*	1,994.82	\$20.7025
36.	Polk	Coastal	Tampa	MTC	Polk	06/07/99	F02	*	*	4,141.60	\$21.1224
37.	Polk	Coastal	Tampa	MTC	Polk	06/08/99	F02	*	*	3,251.80	\$21.0174
38.	Polk	Coastal	Tampa	MTC	Polk	06/09/99	F02	*	*	3,753.45	\$21.3323
39.	Polk	Coastal	Tampa	MTC	Polk	06/10/99	F02	*	*	3,209.11	\$21.4374
40.	Polk	Coastal	Tampa	MTC	Polk	06/11/99	F02	•	•	1,427.68	\$22.2774
41.	Polk	Coastal	Tampa	MTC	Polk	06/14/99	F02	•	*	352.69	\$22.4875
42.	Polk	Coastal	Tampa	MTC	Polk	06/15/99	F02	*	*	1,245.34	\$23.0123
43.	Polk	Coastal	Tampa	MTC	Polk	06/16/99	F02	•	*	728.44	\$22.2773
44.	Polk	Coastal	Tampa	MTC	Polk	06/17/99	F02	•	*	1,471.14	\$22.4873
45.	Polk	Coastal	Tampa	MTC	Polk	06/18/99	F02	*	*	1,477.51	\$22,1724
46.	Polk	Coastal	Tampa	MTC	Polk	06/21/99	F02	*	*	734.67	\$21.9624
47.	Phillips	Central	Tampa	MTC	Phillips	06/09/99	F02	*	*	176.69	\$19.6099
48.	Phillips	Coastal	Tampa	MTC	Phillips	06/10/99	F02	*	*	188.52	\$18.6123
49.	Phillips	Coastal	Tampa	MTC	Phillips	06/29/99	F02	•	•	177.02	\$22.3527
50 .	Phillips	Coastal	Tampa	MTC	Phillips	06/30/99	F02	•	*	179.37	\$23,4025

^{*} No analysis taken. FPSC FORM 423-1 (2/87)

MONTHLY REPORT OF COST AND QUALITY OF FUEL OIL FOR ELECTRIC PLANTS ORIGIN, VOLUME, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) - 228 - 1609

4. Signature of Official Submitting Report:

Phil L. Barringer, Vice President Controller

Line No. (a)	Plant Name (b)	Supplier Name (c)	Shipping Point (d)	Purchase Type (e)	Delivery Location (f)	Delivery Date (g)	Type Oil (h)	Sulfur Content % (i)	BTU Content (BTU/Gal) (j)	Volume (Bbls) (k)	Delivered Price (\$/Bbl) (I)
51.	Phillips	Coastal	Tampa	MTC	Phillips	06/07/99	F06	*	*	598.68	\$18.3900
52 .	Phillips	Coastal	Tampa	MTC	Phillips	06/08/99	F06	*	*	599.66	\$18.3900
53.	Phillips	Coastal	Tampa	MTC	Phillips	06/09/99	F06	*	*	605.32	\$18.3900
54.	Phillips	Coastal	Tampa	MTC	Phillips	06/10/99	F06	*	*	908.32	\$18.3900
55.	Phillips	Coastal	Tampa	MTC	Phillips	06/11/99	F06	*	*	903.51	\$18.3900
56.	Phillips	Coastal	Tampa	MTC	Phillips	06/14/99	F06	*	•	602.45	\$18.8000
57.	Phillips	Coastal	Tampa	MTC	Phillips	06/15/99	F06	*	*	600.30	\$18.8000
58.	Phillips	Coastal	Tampa	MTC	Phillips	06/16/99	F06	*	*	606.82	\$18.8000
59.	Phillips	Coastal	Tampa	MTC	Phillips	06/17/99	F06	*	*	602.85	\$18.7749
60.	Phillips	Coastal	Tampa	MTC	Phillips	06/18/99	F06	*	*	602.04	\$18.8000
61.	Phillips	Coastal	Tampa	MTC	Phillips	06/21/99	F06	*	•	454.66	\$19.2200
62.	Phillips	Coastal	Tampa	MTC	Phillips	06/22/99	F06	*	•	760.49	\$19.2200
63.	Phillips	Coastal	Tampa	MTC	Phillips	06/23/99	F06	*	•	602.54	\$19.2200
64.	Phillips	Coastal	Tampa	MTC	Phillips	06/24/99	F06	*	*	911.99	\$19.2200
65.	Phillips	Coastal	Tampa	MTC	Phillips	06/25/99	F06	*	•	905.87	\$19.2200
66.	Phillips	Coastal	Tampa	MTC	Phillips	06/28/99	F06	*	•	904.81	\$18.8900
67 .	Phillips	Coastal	Tampa	MTC	Phillips	06/29/99	F06	*	*	1,061.41	\$18.8900
68.	Phillips	Coastal	Tampa	MTC	Phillips	06/30/99	F06	*	*	905.05	\$18.8766
69.	Hookers Point	Coastal	Tampa	MTC	Hookers Point	06/10/99	F06	1.00	150587	72,496.79	\$14.7200

ทางและเกา และ เพียง และ มี**หนอยอย่อง อัยกัดเกิดเกิดเกิด** เป็น เพียงที่ไ

N. Harra, 1995 k. Del phane, Hamber I. Caur, of Researd Lynde negri E. N. Submitted on the Engal de Implicit Constant Object. Hinachell Beauchiel

age of the entire in the first temperature of

និយ្យពីនំប្រធ**ឲ** ២វី មិត្តិជានានៃមានប្រហស្តិ មានរួមព្រះ

3 Date Copperated August 13, 138

ල්ලාදේ වේ. මුල්ල්	.704.69F	UNA Marine O' •	igilde Streffen)	o o Jev <u>ū</u> _	รูปถึงตัดเรื่	Vis. 10	fi wasanbafi	೧೭-೩೩ ನೆ.			i .
6.006	(anti)	GST UTS:		Be ³	753.	ing significant		euch	erner (malityay)	audatu tidikt	.4.4
45	(11)	4.	, G,	(-t)	9)	\$ **·			## T	(4)	(n)
			•		4.14 · 4.1441		المنفسة المنا				
0.750.673	ଅଧିୟାତି	,		\$40 ^m	.\$3/70/F6	. 7,0		ស្ត្រាស់ ។	tedestrala	्रृत्यसम्	.1 €
copp.Sirt	୍ ଧ୍ର ଓଡ଼ିଆ	•		eCH	्रमुख <i>ा श</i> ा	er karan	2 C	ीम _ा ल्हाः	1,3-2802		
0000.81	105.02	•		F. 19	BEN SHOOT	in the state of th	4 OJM	នធ្យូននេះ	islado0	<i>દળ</i> ેળલ	: 8
0.32.232	38,006	*		704	Sev. 550	ទ ម	a one	s agrat. T	#g+150]	÷ គ្រាក់រាក់រ	1.3
chesta i	(0.620)	٠	•	007	99147480	,	ं ्यात	2201.54	in: :ss:\	₹ 111	.èa
64,41,313	69.200	* •>	•	\$2.50	<u> </u>	2 1/44	CVM	13 per 13 c	31 - 25	បង្ហា ^ម គ ា	
0000000	02/009	a ·			35,75,7573	::::		รรีกระ เกียร์	ate of	257,049	
ស្វាល្លាន	28,863		-	3:37)	05-1: 81:	ei,41.4	9 004	posteri	31, dub	Parities	(80)
\$: ² 7.414	39.425	•	•					ajatuT		rolling.	હિંદે
Q11/2	ఉప్ కృష్ణ			ent)Fl	29.57(2)	anille		<u>នុម្</u> សា គ. វ	Coasta	च्युंग्रहम्	CC
2011	38 434				687 2.50			Agras."	LifeanD	agitid5	.13
534 2 127 8	e:.ce7	••	-	203	24503380	a gain			incac att	2011/19	99.
dosk of	क <i>्षा</i>	·. . a	•	in	903 - 21,875	- 3g-7tr		•	- (suesmi)	e. differen	0.5
0020 035	\$310 8		A		98,81,440	\$440 \$440		adjars T	Europe D	តជ ្ រីស្រី	1.3
daralens	(3.862			97 (97 (5)		and the		sarasi	Lang.	ক্রিয়া র	.00
		•	•	907	S0052.30	ar 1997 ta			i despe	64.3a4	
0.768.018		. •				•		20 AT	្រាស់ ស្រាស់ ស្រាស់ ស្រាស់ ស្រាស់ ស្រាស	Et la l	NS.
6068-813	14 (42. 1			÷.≯÷	1994(197)	នង្គារីវិស					. 1
SETTLE PR	805.03) [35%37,433	ខណ្ឌមា		្នុកសិ	1.1 20	aq_da%	
7/10 (K.20)	27 ABN 57	7.75.5	• • •	53	- 84 41.50	and 4 and an	eta = 0.757	ક્યાં કાર્યો	.00000	ing living body.	

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

Page 1 of 3

MONTHLY REPORT OF COST AND QUALITY OF FUEL OIL FOR ELECTRIC PLANTS DETAIL OF INVOICE AND TRANSPORTATION CHARGES

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) - 228 - 1609

4. Signature of Official Submitting Report:

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

					_		Invoice	Invoice	5.	Net	Net	Quality	Effective Purchase	Transport to	Add'I Transport	Other	Delivered
Line	Plant	200 128 200	Delivery	Delivery	Type	Volume	Price	Amount	Discount	Amount	Price	Adjust.	Price	Terminal	Charges	Charges	Price
No.	Name	Supplier Name	Location	Date	Oil	(Bbls)	(\$/Bbl)	\$	\$	\$	(\$/Bbl)	(\$/Bbl)	(\$/Bbl)	(\$/Bbl)	(\$/Bbl)	(\$/Bbl)	(\$/Bbl)
(a)	(b)	(c)	(d)	(e)	(f)	(g)	(h)	(i)	(j)	(k)	(1)	(m)	(n)	(o)	(p)	(p)	(r)
									-	Waste San							
1.	Gannon	Central	Gannon	06/07/99	F02	119.05	\$18.6116	\$2,215.71	\$0.0000	\$2,215.71	\$18.6116	\$0.0000	\$18.6116	\$0.0000	\$0.0000	\$0.0000	\$18.6116
2.	Gannon	Central	Gannon	06/08/99	F02	354.48	\$18.6118	\$6,597.51	\$0.0000	\$6,597.51	\$18.6118	\$0.0000	\$18.6118	\$0.0000	\$0.0000	\$0.0000	\$18.6118
3.	Gannon	Central	Gannon	06/10/99	F02	176.64	\$18.6123	\$3,287.67	\$0.0000	\$3,287.67	\$18.6123	\$0.0000	\$18.6123	\$0.0000	\$0.0000	\$0.0000	\$18.6123
4.	Gannon	Central	Gannon	06/11/99	F02	188.69	\$18.5792	\$3,505.70	\$0.0000	\$3,505.70	\$18.5792	\$0.0000	\$18.5792	\$0.0000	\$0.0000	\$0.0000	\$18.5792
5.	Gannon	Central	Gannon	06/15/99	F02	352.93	\$19.7762	\$6,979.60	\$0.0000	\$6,979.60	\$19.7762	\$0.0000	\$19.7762	\$0.0000	\$0.0000	\$0.0000	\$19.7762
6.	Gannon	Central	Gannon	06/16/99	F02	353.17	\$19.7761	\$6,984.31	\$0.0000	\$6,984.31	\$19.7761	\$0.0000	\$19.7761	\$0.0000	\$0.0000	\$0.0000	\$19.7761
7.	Gannon	Central	Gannon	06/17/99	F02	353.31	\$19.7762	\$6,987.14	\$0.0000	\$6,987.14	\$19.7762	\$0.0000	\$19.7762	\$0.0000	\$0.0000	\$0.0000	\$19.7762
8.	Gannon	Central	Gannon	06/18/99	F02	353.29	\$19.7760	\$6,986.66	\$0.0000	\$6,986.66	\$19.7760	\$0.0000	\$19.7760	\$0.0000	\$0.0000	\$0.0000	\$19.7760
9.	Gannon	Central	Gannon	06/21/99	F02	824.07	\$20.7326	\$17,085.13	\$0.0000	\$17,085.13	\$20.7326	\$0.0000	\$20.7326	\$0.0000	\$0.0000	\$0.0000	\$20.7326
10.	Gannon	Central	Gannon	06/22/99	F02	528.83	\$20.7327	\$10,964.08	\$0.0000	\$10,964.08	\$20.7327	\$0.0000	\$20.7327	\$0.0000	\$0.0000	\$0.0000	\$20.7327
11.	Gannon	Central	Gannon	06/23/99	F02	493.62	\$20.7325	\$10,234.00	\$0.0000	\$10,234.00	\$20.7325	\$0.0000	\$20.7325	\$0.0000	\$0.0000	\$0.0000	\$20.7325
12.	Gannon	Central	Gannon	06/24/99	F02	530.62	\$20.7326	\$11,001.11	\$0.0000	\$11,001.11	\$20.7326	\$0.0000	\$20.7326	\$0.0000	\$0.0000	\$0.0000	\$20.7326
13.	Gannon	Central	Gannon	06/30/99	F02	141.36	\$20.7946	\$2,939.52	\$0.0000	\$2,939.52	\$20.7946	\$0.0000	\$20.7946	\$0.0000	\$0.0000	\$0.0000	\$20.7946
14.	Big Bend	Central	Big Bend	06/01/99	F02	1,412.90	\$18.8408	\$26,620.11	\$0.0000	\$26,620.11	\$18.8408	\$0.0000	\$18.8408	\$0.0000	\$0.0000	\$0.0000	\$18.8408
15.	Big Bend	Central	Big Bend	06/02/99	F02	2,120.48	\$18.8407	\$39,951.24	\$0.0000	\$39,951.24	\$18.8407	\$0.0000	\$18.8407	\$0.0000	\$0.0000	\$0.0000	\$18.8407
16.	Big Bend	Central	Big Bend	06/03/99	F02	530.64	\$18.8408	\$9,997.69	\$0.0000	\$9,997.69	\$18.8408	\$0.0000	\$18.8408	\$0.0000	\$0.0000	\$0.0000	\$18.8408
17.	Big Bend	Central	Big Bend	06/07/99	F02	524.88	\$18.6120	\$9,769.08	\$0.0000	\$9,769.08	\$18.6120	\$0.0000	\$18.6120	\$0.0000	\$0.0000	\$0.0000	\$18.6120
	Big Bend	Central	Big Bend	06/08/99	F02	353.90	\$18.6123	\$6,586.88	\$0.0000	\$6,586.88	\$18.6123	\$0.0000	\$18.6123	\$0.0000	\$0.0000	\$0.0000	\$18.6123
	Big Bend	Central	Big Bend	06/09/99	F02	1,767,48	\$18,6120	\$32,896.27	\$0.0000	\$32,896.27	\$18.6120	\$0.0000	\$18.6120	\$0.0000	\$0.0000	\$0.0000	\$18.6120
	Big Bend	Central	Big Bend	06/14/99	F02	1,231.17	\$19,7762	\$24,347.86	\$0,0000	\$24,347.86	\$19,7762	\$0.0000	\$19,7762	\$0,0000	\$0,0000	\$0.0000	\$19.7762
	Big Bend	Central	Big Bend	06/16/99	F02	706.55	\$19,7762	\$13,972.86	\$0.0000	\$13,972.86	\$19,7762	\$0,0000	\$19,7762	\$0,0000	\$0.0000	\$0.0000	\$19,7762
	Big Bend	Central	Big Bend	06/17/99	F02	1,589.98	\$19,7762	\$31,443,76	\$0.0000	\$31,443.76	\$19,7762	\$0.0000	\$19,7762	\$0,0000	\$0.0000	\$0.0000	\$19.7762
	Big Bend	Central	Big Bend	06/18/99	F02	706.51	\$19.7676	\$13,966.01	\$0.0000	\$13,966.01	\$19.7676	\$0.0000	\$19.7676	\$0.0000	\$0.0000	\$0.0000	\$19.7676
	Big Bend	Central	Big Bend	06/22/99	F02	529.29	\$20.7324	\$10,973.46	\$0.0000	\$10,973.46	\$20.7324	\$0.0000	\$20.7324	\$0.0000	\$0.0000	\$0.0000	\$20.7324
	Big Bend	Central	Big Bend	06/23/99	F02	176.29	\$20.7321	\$3,654.86	\$0,0000	\$3,654.86	\$20.7321	\$0.0000	\$20.7321	\$0.0000	\$0.0000	\$0.0000	\$20.7321
25.	Dig Dolla	Contain	Dig Dana	COLLOIGO	. 52	170.20	420.10Z1	45,004.00	40.000	45,004.00	420.1021	40.0000	720.1021	40,5000	40.0000	Ψ0.0000	420.1 OZ 1

"British "?.

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

MONTHLY REPORT OF COST AND QUALITY OF FUEL OIL FOR ELECTRIC PLANTS DETAIL OF INVOICE AND TRANSPORTATION CHARGES

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) - 228 - 1609

4. Signature of Official Submitting Report:_

Phil L. Barringer, Vice President Controller

Line No. (a)	Plant Name (b)	Supplier Nar (c)	Delivery ne Location (d)	Delivery Date (e)	Type Oil (f)	Volume (Bbls) (g)	Invoice Price (\$/Bbl) (h)	Invoice Amount \$ (i)	Discount \$ (j)	Net Amount \$ (k)	Net Price (\$/Bbl) (I)	Quality Adjust. (\$/Bbl) (m)	Effective Purchase Price (\$/Bbl) (n)	Transport to Terminal (\$/Bbl) (o)	Add'I Transport Charges (\$/BbI) (p)	Other Charges (\$/Bbl) (q)	Delivered Price (\$/Bbl) (r)
26.	Big Bend	Central	Big Bend	06/24/99	F02	530.19	\$20.7326	\$10,992.22	\$0,0000	\$10,992.22	\$20,7326	\$0.0000	\$20,7326	\$0,0000	\$0.0000	\$0.0000	\$20.7326
27.	Big Bend	Central	Big Bend	06/27/99	F02	336.71	\$20.7952	\$7,001.96	\$0.0000	\$7,001.96	\$20.7952	\$0.0000	\$20.7952	\$0.0000	\$0.0000	\$0.0000	\$20.7952
28.	Big Bend	Central	Big Bend	06/29/99	F02	707.05	\$20,7949	\$14,703.02	\$0.0000	\$14,703.02	\$20,7949	\$0.0000	\$20,7949	\$0.0000	\$0.0000	\$0.0000	\$20,7949
29.	Big Bend	Central	Big Bend	06/30/99	F02	530.50	\$20.7940	\$11,031.22	\$0.0000	\$11,031.22	\$20.7940	\$0.0000	\$20.7940	\$0.0000	\$0.0000	\$0.0000	\$20,7940
30.	Polk	Coastal	Polk	06/01/99	F02	1,089.48	\$19.7574	\$21,525.33	\$0.0000	\$21,525.33	\$19.7574	\$0.0000	\$19.7574	\$0.0000	\$0.0000	\$0.0000	\$19.7574
31.	Polk	Coastal	Polk	06/02/99	F02	2,308.77	\$20.2824	\$46,827.37	\$0.0000	\$46,827.37	\$20.2824	\$0.0000	\$20.2824	\$0.0000	\$0.0000	\$0.0000	\$20.2824
32.	Polk	Coastal	Polk	06/03/99	F02	1,432.82	\$20.0724	\$28,760.10	\$0.0000	\$28,760.10	\$20.0724	\$0.0000	\$20.0724	\$0.0000	\$0.0000	\$0.0000	\$20.0724
33.	Polk	Coastal	Polk	06/04/99	F02	1,449.27	\$20.7023	\$30,003.19	\$0.0000	\$30,003.19	\$20.7023	\$0.0000	\$20.7023	\$0.0000	\$0.0000	\$0.0000	\$20.7023
34.	Polk	Coastal	Polk	06/05/99	F02	2,521.63	\$20.7024	\$52,203.78	\$0.0000	\$52,203.78	\$20.7024	\$0.0000	\$20.7024	\$0.0000	\$0.0000	\$0.0000	\$20.7024
35.	Polk	Coastal	Polk	06/06/99	F02	1,994.82	\$20.7025	\$41,297.74	\$0.0000	\$41,297.74	\$20.7025	\$0.0000	\$20.7025	\$0.0000	\$0.0000	\$0.0000	\$20.7025
36.	Polk	Coastal	Polk	06/07/99	F02	4,141.60	\$21.1224	\$87,480.35	\$0.0000	\$87,480.35	\$21.1224	\$0.0000	\$21.1224	\$0.0000	\$0.0000	\$0.0000	\$21.1224
37.	Polk	Coastal	Polk	06/08/99	F02	3,251.80	\$21.0174	\$68,344.51	\$0.0000	\$68,344.51	\$21.0174	\$0.0000	\$21.0174	\$0.0000	\$0.0000	\$0.0000	\$21.0174
38.	Polk	Coastal	Polk	06/09/99	F02	3,753.45	\$21.3323	\$80,069.88	\$0.0000	\$80,069.88	\$21.3323	\$0.0000	\$21.3323	\$0.0000	\$0.0000	\$0.0000	\$21.3323
39.	Polk	Coastal	Polk	06/10/99	F02	3,209.11	\$21.4374	\$68,794.93	\$0.0000	\$68,794.93	\$21.4374	\$0.0000	\$21.4374	\$0.0000	\$0.0000	\$0.0000	\$21.4374
40.	Polk	Coastal	Polk	06/11/99	F02	1,427.68	\$22.2774	\$31,805.01	\$0.0000	\$31,805.01	\$22.2774	\$0.0000	\$22.2774	\$0.0000	\$0.0000	\$0.0000	\$22.2774
41.	Polk	Coastal	Polk	06/14/99	F02	352.69	\$22.4875	\$7,931.12	\$0.0000	\$7,931.12	\$22.4875	\$0.0000	\$22.4875	\$0.0000	\$0.0000	\$0.0000	\$22.4875
42.	Polk	Coastal	Polk	06/15/99	F02	1,245.34	\$23.0123	\$28,658.14	\$0.0000	\$28,658.14	\$23.0123	\$0.0000	\$23.0123	\$0.0000	\$0.0000	\$0.0000	\$23.0123
43.	Polk	Coastal	Polk	06/16/99	F02	728.44	\$22.2773	\$16,227.66	\$0.0000	\$16,227.66	\$22.2773	\$0.0000	\$22.2773	\$0.0000	\$0.0000	\$0.0000	\$22.2773
44.	Polk	Coastal	Polk	06/17/99	F02	1,471.14	\$22.4873	\$33,082.03	\$0.0000	\$33,082.03	\$22.4873	\$0.0000	\$22.4873	\$0.0000	\$0.0000	\$0.0000	\$22.4873
45.	Polk	Coastal	Polk	06/18/99	F02	1,477.51	\$22.1724	\$32,759.94	\$0.0000	\$32,759.94	\$22.1724	\$0.0000	\$22.1724	\$0.0000	\$0.0000	\$0.0000	\$22.1724
46.	Polk	Coastal	Polk	06/21/99	F02	734.67	\$21.9624	\$16,135.08	\$0.0000	\$16,135.08	\$21.9624	\$0.0000	\$21.9624	\$0.0000	\$0.0000	\$0.0000	\$21.9624
47.	Phillips	Central	Phillips	06/09/99	F02	176.69	\$19.6099	\$3,464.88	\$0.0000	\$3,464.88	\$19.6099	\$0.0000	\$19.6099	\$0.0000	\$0.0000	\$0.0000	\$19.6099
48.	Phillips	Coastal	Phillips	06/10/99	F02	188.52	\$18.6123	\$3,508.80	\$0.0000	\$3,508.80	\$18.6123	\$0.0000	\$18.6123	\$0.0000	\$0.0000	\$0.0000	\$18.6123
49.	Phillips	Coastal	Phillips	06/29/99	F02	177.02	\$22.3527	\$3,956.87	\$0.0000	\$3,956.87	\$22.3527	\$0.0000	\$22.3527	\$0.0000	\$0.0000	\$0.0000	\$22.3527
50.	Phillips	Coastal	Phillips	06/30/99	F02	179.37	\$23.4025	4,197.70	\$0.0000	\$4,197.70	\$23.4025	\$0.0000	\$23.4025	\$0.0000	\$0.0000	\$0.0000	\$23.4025

MONTHLY REPORT OF COST AND QUALITY OF FUEL OIL FOR ELECTRIC PLANTS DETAIL OF INVOICE AND TRANSPORTATION CHARGES

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) - 228 - 1609

4. Signature of Official Submitting Report:

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

Line No. (a)	Plant Name (b)	Supplier Nar	(d)	Delivery Date (e)	Type Oil (f)	Volume (Bbls) (g)	Invoice Price (\$/Bbl) (h)	Invoice Amount \$ (i)	Discount \$ (j)	Net Amount \$ (k)	Net Price (\$/Bbl) (I)	Quality Adjust. (\$/Bbl) (m)	Effective Purchase Price (\$/Bbl) (n)	Transport to Terminal (\$/Bbl) (o)	Add'I Transport Charges (\$/BbI) (p)	Other Charges (\$/Bbl) (q)	Delivered Price (\$/Bbl) (r)
51.	Phillips	Coastal	Phillips	06/07/99	F06	598.68	\$18.3900	11,009.72	\$0.0000	\$11,009.72	\$18,3900	\$0.0000	\$18,3900	\$0.0000	\$0.0000	\$0.0000	\$18.3900
52.	Phillips	Coastal	Phillips	06/08/99	F06	599.66	\$18.3900	11,027.76	\$0.0000	\$11,027.76	\$18.3900	\$0.0000	\$18.3900	\$0.0000	\$0.0000	\$0.0000	\$18.3900
53.	Phillips	Coastal	Phillips	06/09/99	F06	605.32	\$18.3900	11,131.85	\$0.0000	\$11,131.85	\$18.3900	\$0.0000	\$18.3900	\$0.0000	\$0.0000	\$0.0000	\$18.3900
54.	Phillips	Coastal	Phillips	06/10/99	F06	908.32	\$18.3900	16,704.01	\$0.0000	\$16,704.01	\$18.3900	\$0.0000	\$18.3900	\$0.0000	\$0.0000	\$0.0000	\$18.3900
55.	Phillips	Coastal	Phillips	06/11/99	F06	903.51	\$18,3900	16,615.56	\$0.0000	\$16,615.56	\$18.3900	\$0.0000	\$18.3900	\$0.0000	\$0.0000	\$0.0000	\$18.3900
56.	Phillips	Coastal	Phillips	06/14/99	F06	602.45	\$18.8000	11,326.07	\$0.0000	\$11,326.07	\$18.8000	\$0.0000	\$18.8000	\$0.0000	\$0.0000	\$0.0000	\$18.8000
57.	Phillips	Coastal	Phillips	06/15/99	F06	600.30	\$18.8000	11,285.63	\$0.0000	\$11,285.63	\$18.8000	\$0.0000	\$18.8000	\$0.0000	\$0.0000	\$0.0000	\$18.8000
58.	Phillips	Coastal	Phillips	06/16/99	F06	606.82	\$18.8000	11,408.22	\$0.0000	\$11,408.22	\$18.8000	\$0.0000	\$18.8000	\$0.0000	\$0.0000	\$0.0000	\$18.8000
59.	Phillips	Coastal	Phillips	06/17/99	F06	602.85	\$18.7749	11,318.46	\$0.0000	\$11,318.46	\$18.7749	\$0.0000	\$18.7749	\$0.0000	\$0.0000	\$0.0000	\$18.7749
60.	Phillips	Coastal	Phillips	06/18/99	F06	602.04	\$18.8000	11,318.34	\$0.0000	\$11,318.34	\$18.8000	\$0.0000	\$18.8000	\$0.0000	\$0.0000	\$0.0000	\$18.8000
61.	Phillips	Coastal	Phillips	06/21/99	F06	454.66	\$19.2200	8,738.57	\$0.0000	\$8,738.57	\$19.2200	\$0.0000	\$19.2200	\$0.0000	\$0.0000	\$0.0000	\$19.2200
62.	Phillips	Coastal	Phillips	06/22/99	F06	760.49	\$19.2200	14,616.61	\$0.0000	\$14,616.61	\$19.2200	\$0.0000	\$19.2200	\$0.0000	\$0.0000	\$0.0000	\$19.2200
63.	Phillips	Coastal	Phillips	06/23/99	F06	602.54	\$19.2200	11,580.82	\$0.0000	\$11,580.82	\$19.2200	\$0.0000	\$19.2200	\$0.0000	\$0.0000	\$0.0000	\$19.2200
64.	Phillips	Coastal	Phillips	06/24/99	F06	911.99	\$19.2200	17,528.46	\$0.0000	\$17,528.46	\$19.2200	\$0.0000	\$19.2200	\$0.0000	\$0.0000	\$0.0000	\$19.2200
65.	Phillips	Coastal	Phillips	06/25/99	F06	905.87	\$19.2200	17,410.83	\$0.0000	\$17,410.83	\$19.2200	\$0.0000	\$19.2200	\$0.0000	\$0.0000	\$0.0000	\$19.2200
66.	Phillips	Coastal	Phillips	06/28/99	F06	904.81	\$18.8900	17,091.86	\$0.0000	\$17,091.86	\$18.8900	\$0.0000	\$18.8900	\$0.0000	\$0.0000	\$0.0000	\$18.8900
67.	Phillips	Coastal	Phillips	06/29/99	F06	1,061.41	\$18.8900	20,050.05	\$0.0000	\$20,050.05	\$18.8900	\$0.0000	\$18.8900	\$0.0000	\$0.0000	\$0.0000	\$18.8900
68.	Phillips	Coastal	Phillips	06/30/99	F06	905.05	\$18.8766	17,084.30	\$0.0000	\$17,084.30	\$18.8766	\$0.0000	\$18.8766	\$0.0000	\$0.0000	\$0.0000	\$18.8766
69.	Hookers Poi	nt Coastal	Hookers Point	06/10/99	F06	72,496.79	\$14.7200	1,067,152.75	\$0.0000	\$1,067,152.75	\$14.7200	\$0.0000	\$14.7200	\$0.0000	\$0.0000	\$0.0000	\$14.7200

... I there is southborn

New Delivered

Price

(k)

Reason for Revision

(l)

MONTHLY REPORT OF COST AND QUALITY OF FUEL OIL FOR ELECTRIC PLANTS REPORT OF ADJUSTMENTS TO PREVIOUS OIL DELIVERIES

3. Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting

(813) - 228 - 1609

4. Signature of Official Submitting Report:

Phil L. Barringer, Vice President Controller

2. Reporting Company: Tampa Electric Company

Form

1. Reporting Month: June Year: 1999

6. Date Completed: August 13, 1999

Line No. (a)	Month Reported (b)	Plant Name (c)	Supplier (d)	Line Number (e)	Volume (Bbls) (f)	Form No. (g)	Column Designator & Title (h)	Old Value (i)	New Value (j)
1.	NONE	***************************************			***************************************			***************************************	P4
2.									
3.									
4.									
5 .							with the second		
6.									
7.									
8.									
9.									
10.									
11.									
12.									
13.									
14.									
15.							And the second of the second o		

Original

Old

FPSC FORM 423-1(b) (2/87)

FPSC Form 423-2

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Electro-Coal Transfer Facility - Big Bend Station (1)

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) 228 - 1609

5. Signature of Official Submitting Form:_

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

										As Receive	d Coal Qu	ality
						Effective	Total	Delivered				
						Purchase	Transport	Price Transfer	Sulfur	BTU	Ash	Moisture
Line		Mine	Purchase	Transport		Price	Charges	Facility	Content	Content	Content	Content
No.	Supplier Name	Location	Type	Mode	Tons	(\$/Ton)	(\$/Ton)	(\$/Ton)	%	(BTU/lb)	%	%
(a)	(b)	(c)	(d)	(e)	(f)	(g)	(h)	(i)	(j)	(k)	(I)	(m)
1.	Zeigler Coal	10,IL,145,157	LTC	RB	67,876.70	\$44.167	\$0.000	\$44.167	3.01	11,056	9.39	12.63
2.	Peabody Development	10,IL,165	LTC	RB	20,790.40	\$30.900	\$5.930	\$36.830	1.70	12,382	7.19	9.44
3.	Peabody Development	9,KY,225	S	RB	47,726.00	\$21.500	\$5.930	\$27.430	2.83	11,513	9.11	11.62
4.	AMCI Export	55,Indonesia,999	S	ОВ	77,687.00	\$23.560	\$1.560	\$25.120	0.08	9,396	1.23	24.60

FPSC FORM 423-2 (2/87)

Sed on Francisco

4 4 4 7 4 1 11

⁽¹⁾ As Electro-Coal Transfer Facility is a central storage site for coal prior to its delivery to the power plant, the coal from suppliers noted on this schedule is usually delivered to Big Bend Station but could ultimately be delivered to Gannon Station or Polk Station.

5 - 1 - 2

and the second control of the property of the property of the party of

Ancer via the second of the se

And the state of t

Company Compan

i proper and in the Section of

The second of the second of

Took Event All In

A The Secretary of the Secretary

FPSC Form 423-2(a)

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS DETAILED PURCHASED COAL INVOICE INFORMATION

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Electro-Coal Transfer Facility - Big Bend Station (1)

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) - 228 - 1609

5. Signature of Official Submitting Form:

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

Line No. (a)	Supplier Name (b)	Mine Location (c)	Purchase Type (d)	Tons (e)	F.O.B.(2) Mine Price (\$/Ton) (f)	Shorthaul & Loading Charges (\$/Ton) (g)	Original Invoice Price (\$/Ton) (h)	Retro- active Price Adjustments (\$/Ton) (i)	Base Price (\$/Ton) (j)	Quality Adjust- ments (\$/Ton) (k)	Effective Purchase Price (\$/Ton) (I)
1.	Zeigler Coal	10,IL,145,157	LTC	67,876.70	N/A	\$0.000	\$44.167	\$0.000	\$44.167	\$0.000	\$44,167
2.	Peabody Development	10,IL,165	LTC	20,790.40	N/A	\$0.000	\$30.900	\$0.000	\$30.900	\$0.000	\$30.900
3.	Peabody Development	9,KY,225	S	47,726.00	N/A	\$0.000	\$21.500	\$0.000	\$21.500	\$0.000	\$21.500
4.	AMCI Export	55,Indonesia,999	S	77,687.00	N/A	\$0.000	\$23.560	\$0.000	\$23.560	\$0.000	\$23.560

FPSC FORM 423-2(a) (2/87)

⁽¹⁾ As Electro-Coal Transfer Facility is a central storage site for coal prior to its delivery to the power plant, the coal from suppliers noted on this schedule is usually delivered to Big Bend Station but could ultimately be delivered to Gannon Station or Polk Station.

⁽²⁾ Tampa Electric purchases coal F.O.B. shipping point or F.O.B. destination.

a de Michael de tres pleatric se este a directer aned pla et entermis planeure de beste entre bestetending

Cash and and

The state of the s

Charles and American Market of the Community of the Commu

Application of the second

FPSC Form 423-2(b)

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS **DETAIL OF TRANSPORTATION CHARGES**

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Electro-Coal Transfer Facility - Big Bend Station (1)

4. Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting

(813) 228 - 1609

5. Signature of Official Submitting Form:

6. Date Completed: August 13, 1999

Line No. (a)	Supplier Name (b)	Mine Location (c)	Shipping Point (d)	Trans- port Mode (e)	Tons (f)	(2) Effective Purchase Price (\$/Ton) (g)	Add'I Shorthaul & Loading Charges (\$/Ton) (h)	Rail Chai Rail Rate (\$/Ton)	•	River Barge Rate (\$/Ton) (k)	Waterbor Trans- loading Rate (\$/Ton) (I)	Ocean Barge Rate (\$/Ton) (m)	Other Water	Other Related Charges (\$/Ton) (o)	Total Transpor- tation Charges (\$/Ton) (p)	Delivered Price Transfer Facility (\$/Ton) (q)
2. 3.	Zeigler Coal Peabody Development Peabody Development AMCI Export	10,IL,145,157 10,IL,165 9,KY,225 55,Indonesia,999	Randolph & Perry Cnty, IL Saline Cnty, IL Union Cnty, Ky Kalimantan/Republic of Indonesia	RB RB RB OB	67,876.70 20,790.40 47,726.00 77,687.00	\$30.900 \$21.500	\$0.000 \$0.000 \$0.000 \$0.000	\$0.000 \$0.000 \$0.000 \$0.000	\$0.000 \$0.000 \$0.000 \$0.000	\$0.000 \$5.930 \$5.930 \$0.000	\$0.000 \$0.000 \$0.000 \$1.560	\$0.000 \$0.000 \$0.000 \$0.000	\$0.000 \$0.000 \$0.000 \$0.000	\$0.000 \$0.000 \$0.000 \$0.000	\$0.000 \$5.930 \$5.930 \$1.560	\$44.167 \$36.830 \$27.430 \$25.120

FPSC FORM 423-2(b) (2/87) ||\012

⁽¹⁾ As Electro-Coal Transfer Facility is a central storage site for coal prior to its delivery to the power plant, the coal from suppliers noted on this schedule is usually delivered to Big Bend Station but could ultimately be delivered to Gannon Station or Polk Station.

⁽²⁾ Tampa Electric purchases coal F.O.B. shipping point or F.O.B. destination.

FPSC Form 423-2

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Electro-Coal Transfer Facility - Gannon Station (1)

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) 228 - 1609

5. Signature of Official Submitting Form:

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

						Effective	Total	Delivered		As Recei	ved Coal	Quality
Line No. (a)	Supplier Name (b)	Mine Location (c)	Purchase Type (d)	Trans- port Mode (e)	Tons (f)	Purchase Price (\$/Ton) (g)	Transport Charges (\$/Ton) (h)	Price Transfer Facility (\$/Ton)	Sulfur Content % (j)	BTU Content (BTU/lb) (k)	Ash Content % (I)	Moisture Content % (m)
1.	Sugar Camp	10,IL,059	LTC	RB	76,214.20	\$26.341	\$5.670	\$32.011	2.51	12,811	8.60	6.57
2.	Jader Fuel Co	10,IL,165	LTC	RB	10,619.50	\$25.300	\$5.670	\$30.970	3.18	12,816	9.88	5.10
3.	Jader Fuel Co	10,IL,165	s	RB	21,692.00	\$23.850	\$5.670	\$29.520	3.35	12,542	11.10	5.80
4.	American Coal	10,IL,165	LTC	RB	69,350.00	\$27.300	\$4.330	\$31.630	1.24	12,069	7.12	11.07
5.	Sugar Camp	10,IL,059	S	RB	13,109.70	\$25.160	\$5.670	\$30.830	3.14	12,628	10.22	5.61

FPSC FORM 423-2 (2/87)

⁽¹⁾ As Electro-Coal Transfer Facility is a central storage site for coal prior to its delivery to the power plant, the coal from suppliers noted on this schedule is usually delivered to Gannon Station but could ultimately be delivered to Big Bend Station or Polk Station.

FPSC Form 423-2(a)

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS DETAILED PURCHASED COAL INVOICE INFORMATION

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Electro-Coal Transfer Facility - Gannon Station (1)

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) 228 - 1609

5. Signature of Official Submitting Form:

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

Line No. (a)	Supplier Name (b)	Mine Location (c)	Purchase Type (d)	Tons (e)	F.O.B.(2) Mine Price (\$/Ton) (f)	Shorthaul & Loading Charges (\$/Ton) (g)	Original Invoice Price (\$/Ton) (h)	Retro- active Price Adjustments (\$/Ton) (i)	Base Price (\$/Ton) (j)	Quality Adjust- ments (\$/Ton) (k)	Effective Purchase Price (\$/Ton) (I)
1.	Sugar Camp	10,IL,059	LTC	76,214.20	N/A	\$0.000	\$26.500	(\$0.159)	\$26.341	\$0.000	\$26.341
2.	Jader Fuel Co	10,IL,165	LTC	10,619.50	N/A	\$0.000	\$25.450	(\$0.150)	\$25.300	\$0.000	\$25,300
3.	Jader Fuel Co	10,IL,165	S	21,692.00	N/A	\$0.000	\$24.000	(\$0.150)	\$23.850	\$0.000	\$23.850
4.	American Coal	10,IL,165	LTC	69,350.00	N/A	\$0.000	\$27.300	\$0.000	\$27.300	\$0.000	\$27.300
5.	Sugar Camp	10,IL,059	s	13,109.70	N/A	\$0.000	\$24.500	\$0.000	\$24.500	\$0.660	\$25.160

FPSC FORM 423-2(a) (2/87)

⁽¹⁾ As Electro-Coal Transfer Facility is a central storage site for coal prior to its delivery to the power plant, the coal from suppliers noted on this schedule is usually delivered to Gannon Station but could ultimately be delivered to Big Bend Station or Polk Station.

⁽²⁾ Tampa Electric purchases coal F.O.B. shipping point or F.O.B. destination.

FPSC Form 423-2(b)

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS DETAIL OF TRANSPORTATION CHARGES

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Electro-Coal Transfer Facility - Gannon Station (1)

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) 228 - 1609

5. Signature of Official Submitting Form:

hil L. Barringer, Vice President Controlle

								Rail Char	rges		Waterbor	ne Charge	es			
						(2)	Add'l								Total	Delivered
						Effective	Shorthaul		Other	River	Trans-	Ocean	Other	Other	Transpor-	Price
				Trans-		Purchase	& Loading	Rail	Rail	Barge	loading	Barge	Water	Related	tation	Transfer
Line		Mine	Shipping	port		Price	Charges	Rate	Charges	Rate	Rate	Rate	•	•	Charges	Facility
No.	Supplier Name	Location	Point	Mode	Tons	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)
(a)	(b)	(c)	(d)	(e)	(f)	(g)	(h)	(i)	0)	(k)	(I)	(m)	(n)	(o)	(p)	(p)
								Companyanta								
1.	Sugar Camp	10,IL,059	Gallatin Cnty, IL	RB	76,214.20	\$26.341	\$0.000	\$0.000	\$0.000	\$5.670	\$0.000	\$0.000	\$0.000	\$0.000	\$5.670	\$32.011
		40 11 405		-	10.010.50	***	40.000	00.000	** ***	05 070	00.000	40.000	00.000	40.000	05.070	*******
2.	Jader Fuel Co	10,IL,165	Saline Cnty, IL	RB	10,619.50	\$25.300	\$0.000	\$0.000	\$0.000	\$5.670	\$0.000	\$0.000	\$0.000	\$0.000	\$5.670	\$30.970
2	Jader Fuel Co	10 11 165	Solina Caty II	RB	21,692.00	\$23.850	\$0.000	\$0.000	\$0.000	\$5.670	\$0.000	\$0.000	\$0,000	\$0,000	\$5,670	\$20 E20
٥.	Jader Fuel Co	10,IL,165	Saline Cnty, IL	KD	21,092.00	\$23.650	\$0.000	\$0.000	\$0.000	\$5.070	\$0.000	\$0.000	\$0.000	\$0.000	\$5.070	\$29.520
1	American Coal	10,IL,165	Saline Cnty, IL	RB	69,350,00	\$27.300	\$0.000	\$0,000	\$0.000	\$4,330	\$0,000	\$0,000	\$0,000	\$0.000	\$4.330	\$31.630
4.	American Coar	10,12,103	Sainle Citty, IL	KD	09,000.00	φ27.500	φυ.υυυ	φυ.υυυ	φυ.υυυ	φ4.550	φυ.υυυ	φυ.υυυ	φυ.υυυ	φυ.υυυ	φ4.550	\$31.030
5	Sugar Camp	10,IL,059	Gallatin Cnty, IL	RB	13,109.70	\$25.160	\$0.000	\$0.000	\$0.000	\$5.670	\$0,000	\$0.000	\$0,000	\$0,000	\$5,670	\$30.830
٥.	Sugai Sallip	10,12,003	Ganatin Onty, iL	No	15,105.70	Ψ20.100	ψ0.000	Ψ0.000	ψ0.000	Ψ5.070	ψυ.υυυ	Ψ0.000	ψυ.υυυ	Ψ0.000	Ψ5.070	φ50.650

⁽¹⁾ As Electro-Coal Transfer Facility is a central storage site for coal prior to its delivery to the power plant, the coal from suppliers noted on this schedule is usually delivered to Gannon Station but could ultimately be delivered to Big Bend Station or Polk Station.

⁽²⁾ Tampa Electric purchases coal F.O.B. shipping point or F.O.B. destination.

againette a marin account of the contract of t

140 A

en a meta genalia a la terratione de la metalla de la terratione de la median de la median de la median de la m Sentia de la terratione de la metalla de

FPSC Form 423-2

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Electro-Coal Transfer Facility - Polk Station (1)

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) - 228 - 1609

5. Signature of Official Submitting Form:

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

										As Receive	d Coal Qu	ality
						Effective	Total	Delivered				
						Purchase	Transport	Price Transfer	Sulfur	BTU	Ash	Moisture
Line		Mine	Purchase	Transport		Price	Charges	Facility	Content	Content	Content	Content
No.	Supplier Name	Location	Type	Mode	Tons	(\$/Ton)	(\$/Ton)	(\$/Ton)	%	(BTU/lb)	%	%
(a)	(b)	(c)	(d)	(e)	(f)	(g)	(h)	(i)	(j)	(k)	(I)	(m)
1.	Consolidation Coal	3,W.VA.,061	s	RB	61,413.34	\$26.028	\$8.000	\$34.028	1.55	13,328	7.49	4.72

(1) As Electro-Coal Transfer Facility is a central storage site for coal prior to its delivery to the power plant, the coal from suppliers noted on this schedule is usually delivered to Polk Station but could ultimately be delivered to Big Bend Station or Gannon Station.

FPSC FORM 423-2 (2/87)

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS DETAILED PURCHASED COAL INVOICE INFORMATION

FPSC Form 423-2(a)

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Electro-Coal Transfer Facility - Polk Station (1)

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) - 228 - 1609

5. Signature of Official Submitting Form:

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

Line No. (a)	Supplier Name (b)	Mine Location (c)	Purchase Type (d)	Tons (e)	F.O.B. Mine Price (\$/Ton) (f)	Shorthaul & Loading Charges (\$/Ton) (g)	Original Invoice Price (\$/Ton) (h)	Retro- active Price Adjustments (\$/Ton) (i)	Base Price (\$/Ton) (j)	Quality Adjust- ments (\$/Ton) (k)	Effective Purchase Price (\$/Ton) (I)
1.	Consolidation Coal	3,W.VA.,061	S	61,413.34	N/A	\$0.000	\$26.028	\$0.000	\$26.028	\$0.000	\$26.028

FPSC FORM 423-2(a) (2/87)

⁽¹⁾ As Electro-Coal Transfer Facility is a central storage site for coal prior to its delivery to the power plant, the coal from suppliers noted on this schedule is usually delivered to Polk Station but could ultimately be delivered to Big Bend Station or Gannon Station.

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS DETAIL OF TRANSPORTATION CHARGES

FPSC Form 423-2(b)

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Electro-Coal Transfer Facility - Polk Station (1)

4. Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting

(813) - 228 - 1609

5. Signature of Official Submitting Form:

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

								Rail C	harges		Waterbor	ne Charg	es			
						(2)	Add'l								Total	Delivered
						Effective	Shorthaul		Other	River	Trans-	Ocean	Other	Other	Transpor-	Price
				Trans-		Purchase	& Loading	Rail	Rail	Barge	loading	Barge	Water	Related	tation	Transfer
Line		Mine	Shipping	port		Price	Charges	Rate	Charges	Rate	Rate	Rate	Charges	Charges	Charges	Facility
No.	Supplier Name	Location	Point	Mode	Tons	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)
(a)	(b)	(c)	(d)	(e)	(f)	(g)	(h)	(i)	0)	(k)	(1)	(m)	(n)	(o)	(p)	(p)
1.	Consolidation Coal	3,W.VA.,061	Monongalia County, W.VA.	RB	61,413.34	\$26.028	\$0.000	\$0.000	\$0.000	\$8.000	\$0.000	\$0.000	\$0.000	\$0.000	\$8.000	\$34.028

FPSC FORM 423-2(b) (2/87)

⁽¹⁾ As Electro-Coal Transfer Facility is a central storage site for coal prior to its delivery to the power plant, the coal from suppliers noted on this schedule is usually delivered to Polk Station but could ultimately be delivered to Big Bend Station or Gannon Station.

FPSC Form 423-2

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Big Bend Station

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) 228 - 1609

5. Signature of Official Submitting Form:

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

										As Receive	d Coal Qu	ality	
						Effective	Total						
						Purchase	Transport	FOB Plant	Sulfur	BTU	Ash	Moisture	
Line		Mine	Purchase	Transport		Price	Charges	Price	Content	Content	Content	Content	
No.	Supplier Name	Location	Type	Mode	Tons	(\$/Ton)	(\$/Ton)	(\$/Ton)	%	(BTU/lb)	%	%	
(a)	(b)	(c)	(d)	(e)	(f)	(g)	(h)	(i)	(j)	(k)	(I)	(m)	
1.	Transfer Facility	N/A	N/A	ОВ	186,265.00	\$30.663	\$9.038	\$39.701	2.63	11,799	8.54	10.55	

FPSC FORM 423-2 (2/87)

As a series and d

camarare el Omora, Sua r

FPSC Form 423-2(a)

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS DETAILED PURCHASED COAL INVOICE INFORMATION

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Big Bend Station

4. Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting

(813) 228 - 1609

5. Signature of Official Submitting Form:

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

Line No. (a)	Supplier Name (b)	Mine Location (c)	Purchase Type (d)	Tons (e)	F.O.B. Mine Price (\$/Ton) (f)	Shorthaul & Loading Charges (\$/Ton) (g)	Original Invoice Price (\$/Ton) (h)	Retro- active Price Adjustments (\$/Ton) (i)	Base Price (\$/Ton) (j)	Quality Adjust- ments (\$/Ton) (k)	Effective Purchase Price (\$/Ton) (I)
1.	Transfer Facility	N/A	N/A	186,265.00	N/A	\$0.000	\$30.663	\$0.000	\$30.663	\$0.000	\$30.663

ERNORUE PROGRAMATO

A local distribution of the second

The second second

FPSC Form 423-2(b)

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS DETAIL OF TRANSPORTATION CHARGES

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Big Bend Station

4. Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting

(813) 228 - 1609

5. Signature of Official Submitting Form:

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

								Rail C	harges		Waterbor	ne Charg	es			
							Add'l								Total	
						Effective	Shorthaul		Other	River	Trans-	Ocean	Other	Other	Transpor-	
				Trans-		Purchase	& Loading	Rail	Rail	Barge	loading	Barge	Water	Related	tation	FOB Plant
Line		Mine	Shipping	port		Price	Charges	Rate	Charges	Rate	Rate	Rate	Charges	Charges	Charges	Price
No.	Supplier Name	Location	Point	Mode	Tons	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)
(a)	(b)	(c)	(d)	(e)	(f)	(g)	(h)	(i)	(i)	(k)	(I)	(m)	(n)	(o)	(p)	(q)
1. Tr	ansfer Facility	N/A	Davant, La.	ОВ	186,265.00	\$30.663	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$9.038	\$39.701

HELD CONFIDENTIAL

FPSC FORM 423-2(b) (2/87)

Sold Market State of the State

A NOT THE PERSON STANDARD OF THE STANDARD OF T

FPSC Form 423-2

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Gannon Station

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) 228 - 1609

5. Signature of Official Submitting Form:

Phil L. Barringer, Vice President Controller

1.36

12,767

8.68

6.14

As Received Coal Quality

6. Date Completed: August 13, 1999

\$44.560

AF AND CHAIRTY OF COA

\$19.160

\$63.720

Effective Total Purchase **FOB Plant** Sulfur BTU Transport Ash Moisture Line Mine Purchase Transport Price Charges Price Content Content Content Content % No. Supplier Name Location Type Mode Tons (\$/Ton) (\$/Ton) (\$/Ton) (BTU/lb) % % (j) (l) (a) (b) (c) (d) (e) (f) (g) (h) (k) (m) N/A N/A OB 123,808.00 \$26.344 \$9.032 \$35.376 0.97 10,119 20.45 Transfer Facility 6.84 8,KY,235 LTC UR 27,006.00 \$44.560 \$19.160 \$63.720 **Gatliff Coal** 1.01 12,707 7.50 7.43

8,704.00

LTC

8,KY,195

UR

FPSC FORM 423-2 (2/87) ||\012

Gatliff Coal

FPSC Form 423-2(a)

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS DETAILED PURCHASED COAL INVOICE INFORMATION

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Gannon Station

Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) 228 - 1609

4. Name, Title & Telephone Number of Contact Person Concerning Data

5. Signature of Official Submitting Form:_

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

								Retro-			
					F.O.B.	Shorthaul	Original	active		Quality	Effective
					Mine	& Loading	Invoice	Price	Base	Adjust-	Purchase
Line		Mine	Purchase		Price	Charges	Price	Adjustments	Price	ments	Price
No.	Supplier Name	Location	Type	Tons	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)
(a)	(b)	(c)	(d)	(e)	(f)	(g)	(h)	(i)	(i)	(k)	(1)
											
1.	Transfer Facility	N/A	N/A	123,808.00	N/A	\$0.000	\$26.344	\$0.000	\$26.344	\$0.000	\$26.344
							A CONTRACTOR				400000
2.	Gatliff Coal	8,KY,235	LTC	27,006.00	N/A	\$0.000	\$44.560	\$0.000	\$44.560	\$0.000	\$44.560
_	0.111110	010/105	1.70	0.704.00		40.000	***	#0.000	£44.500	40.000	044.500
3.	Gatliff Coal	8,KY,195	LTC	8,704.00	N/A	\$0.000	\$44.560	\$0.000	\$44.560	\$0.000	\$44.560

FPSC FORM 423-2(a) (2/87)

ributos integral 15, il so-

FPSC Form 423-2(b)

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS DETAIL OF TRANSPORTATION CHARGES

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Gannon Station

4. Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting

(813) 228 - 1609

5. Signature of Official Submitting Form:

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

								Rail Cha	rges		Waterborn	ne Charg	es			
							Add'l								Total	
						Effective	Shorthaul		Other	River	Trans-	Ocean	Other	Other	Transpor-	
				Trans-		Purchase	& Loading	Rail	Rail	Barge	loading	Barge	Water	Related	tation	FOB Plant
Line		Mine	Shipping	port		Price	Charges	Rate	Charges	Rate	Rate	Rate	Charges	Charges	Charges	Price
No.	Supplier Name	Location	Point	Mode	Tons	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)
(a)	(b)	(c)	(d)	(e)	(f)	(g)	(h)	(i)	(i)	(k)	(l) 	(m)	(n)	(o)	(p)	(q)
1.	Transfer Facility	N/A	Davant, La.	ОВ	123,808.00	\$26.344	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$9.032	\$35.376
2.	Gatliff Coal	8,KY,235	Whitley Cnty, KY	UR	27,006.00	\$44.560	\$0.000	\$19.160	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$19.160	\$63.720
3.	Gatliff Coal	8,KY,195	Pike Cnty, KY	UR	8,704.00	\$44.560	\$0.000	\$19.160	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$19.160	\$63.720

FPSC FORM 423-2(b) (2/87)

والمعارض الشرا للبلالم فأكورانا SPORTATION CHARGES

FPSC Form 423-2

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS ORIGIN, TONNAGE, DELIVERED PRICE AND AS RECEIVED QUALITY

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Polk Station

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) 228 - 1609

5. Signature of Official Submitting Form:

Phil L. Barringer, Vice President Controller

									1	As Receive	d Coal Qu	ality
						Effective	Total					
						Purchase	Transport	FOB Plant	Sulfur	BTU	Ash	Moisture
Line		Mine	Purchase	Transport		Price	Charges	Price	Content	Content	Content	Content
No.	Supplier Name	Location	Type	Mode	Tons	(\$/Ton)	(\$/Ton)	(\$/Ton)	%	(BTU/lb)	%	%
(a)	(b)	(c)	(d)	(e)	(f)	(g)	(h)	(i)	(j)	(k)	(1)	(m)
1.	Transfer facility	N/A	N/A	ОВ	42,223.00	\$28,917	\$12.026	\$40.943	2.17	11,305	5.52	13.58
										Walley 1 (1) 10 10 10 10 10 10 10 10 10 10 10 10 10		

FPSC Form 423-2(a)

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS DETAILED PURCHASED COAL INVOICE INFORMATION

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Polk Station

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) 228 - 1609

5. Signature of Official Submitting Form:

Phil L Barringer, Vice President Controller

Line No. (a)	Supplier Name (b)	Mine Location (c)	Purchase Type (d)	Tons (e)	F.O.B. Mine Price (\$/Ton) (f)	Shorthaul & Loading Charges (\$/Ton) (g)	Original Invoice Price (\$/Ton) (h)	Price Adjustments (\$/Ton) (i)	Retro- active Base Price (\$/Ton) (j)	Quality Adjust- ments (\$/Ton) (k)	Effective Purchase Price (\$/Ton) (I)
1.	Transfer facility	N/A	N/A	42,223.00	N/A	\$0.000	\$28.917	\$0.000	\$28.917	\$0.000	\$28.917



FPSC Form 423-2(b)

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS
DETAIL OF TRANSPORTATION CHARGES

1. Reporting Month: June Year: 1999

2. Reporting Company: Tampa Electric Company

3. Plant Name: Polk Station

 Name, Title & Telephone Number of Contact Person Concerning Data Submitted on this Form: Jeffrey Chronister, Director Financial Reporting (813) 228 - 1609

5. Signature of Official Submitting Form:

Phil L. Barringer, Vice President Controller

6. Date Completed: August 13, 1999

								Rail Charges			Waterborne Charges					
							Add'l							- Total		
						Effective	Shorthaul		Other	River	Trans-	Ocean	Other	Other	Transpor-	
				Trans-		Purchase	& Loading	Rail	Rail	Barge	loading	Barge	Water	Related	tation	FOB Plant
Line	•	Mine	Shipping	port		Price	Charges	Rate	Charges	Rate	Rate	Rate	Charges	Charges	Charges	Price
No.	Supplier Name	Location	Point	Mode	Tons	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)	(\$/Ton)
(a)	(b)	(c)	(d)	(e)	(f)	(g)	(h)	(i)	(i)	(k)	(I)	(m)	(n)	(0)	(p)	(q)
1.	Transfer facility	N/A	Davant, La.	ОВ	42,223.00	\$28.917	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$0.000	\$12.026	\$40.943

FPSC FORM 423-2(b) (2/87)

Constant of the second of the

FPSC Form 423-2(c)

10. 11. 12. 13. 14. 15. 16.

MONTHLY REPORT OF COST AND QUALITY OF COAL FOR ELECTRIC PLANTS REPORT OF ADJUSTMENTS TO PREVIOUS COAL DELIVERED

1. F	Reporting	Month:	June	Year:	1999
------	-----------	--------	------	-------	------

2. Reporting Company: Tampa Electric Company

3. Name, Title & Telephone Number of Contact Perso	n Concerning Data
Submitted on this Form: Jeffrey Chronister, Director	r Financial Reporting
(813) 228 - 1609	000

4. Signature of Official Submitting Form:

Phil L. Barringer, Vice President Controller

Line No. (a)	Month Reported (b)	Form Plant Name (c)	Intended Generating Piant (d)	Supplier (e)	Original Line Number (f)	Old Volume Tons (g)	Form No. (h)	Column Designator & Title (i)	Old Value (j)	New Value (k)	Delivered Price Transfer Facility (\$/Ton) (I)	Reason for Revision (m)	
1.	NONE						-						_
2.													
3.													
4.													
5													